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Four choices are given for each of the questions/incomplete statements. Choose
the correct answer and shade the correct choice in the OMR given to you with
blue / black ball point pen.

40x1=40

41. QTHITORY Ty QWNITYVTTTLNERY, TR WIHLT WTT, WP
A. SV Xied B. e

C. QBOTBFB D. méegs&ae@amce

A safety device used to protect the electric circuit and electric appliances is
A. ammeter B. fuse

C. commutator D. galvanometer
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The position of the image obtained by a convex lens when an object is kept
between F, and 2F (F: principal focus of the convex lens)

A. Dbetween F, and 2F, B. at2F,
C. beyond 2F, D. at infinity
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The power plant that does not use turbine to generate electricity is

A. Solar power plant B. Nuclear power plant

C. Hydroelectric power plant D. Thermal power plant
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A. 36A et 200

B. 0.6A I [
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D. 0.25A —iHHr B

6V

An electric lamp whose resistance is 20 QQ and a conductor of 4 QO resistance
are connected in series to a 6V battery as shown in figure. Then the total current

flowing through the circuit is

A. 36A Fry %Q

B. 0.6A | I
C. 4A

D. 0.25A SULLD (B

6V
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In Fleming’s right hand rule middle finger indicates direction of the

A. electric current induced in a conductor

movement of the conductor

B
C. magnetic field
D

electric current
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P 1.52
Q 1.44
R 2.42
S 1.33
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A. Q B. S
C. R D. P

Observe the following table :

Material medium Refractive index
P 1.52
Q 1.44
R 242
S 1.33

In which material medium speed of light is very high?
B. S
D. P

A. Q
C. R
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A rectangular coil of copper wire is rotated in a magnetic field. The direction
of induced current changes ones in each

A.
C.

A.
C.

two revolutions B. one revolution

half revolution D. one-fourth revolution
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A major component of biogas is

A.
C.

A.

B
C.
D

ethane B. methane

butane D. propane
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One of the properties of concave lens is, it

A.
B

C.
D
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diverges the light rays
forms real and inverted image
1s thinner at the edges and thicker at the middle

converges the light rays
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A. 44W
B. 1100W
C. 110W
D. 220W

An electric bulb is connected to a 220V generator. If the current flowing in the
bulb is 0.50A. The power of the bulb is

A. 44W
B. 1100W
C. 110W
D. 220W
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The function of ammeter in an electric circuit is, it
A. reverses the direction of the current

B. measures rate of electric current

C. protects electrical appliances

D. measures the potential difference
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As the electrical resistivity of a substance increases
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A. resistance decreases

B. conductivity increases
C. melting point decreases
D. resistance increases
WEWEE
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B
C.
D
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The phenomenon of bending of light as it passes from one transparent medium

to another is

A.
B.
C.
D.

refraction of light
reflection of light
internal reflection of light

lateral inversion of light
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Which of the following is NOT a property of magnetic lines?
A. magnetic field lines are dense near poles
magnetic field lines are closed loops

B
C. magnetic field lines intersect each other
D

magnetic field lines emerge from north pole and merge at the south pole
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When a copper is exposed to air for a long time it acquires a green coat. Because
it reacts with

A. sulphur B. nitrogen

C. moist oxygen D. moist carbondioxide

56. ouen® WrRTUROHOBHE DINOTR T3y QUOFHY ToBRE FHIN
A. 6% 6 B. 9 & 3
C. 7% 5 D. 3 %3 9

The number of single bonds and double bonds present in a structure of benzene
molecule respectively

A. 6and6 B. 9and3
C. 7and5 D. 3and9
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The gas liberated when sodium carbonate reacts with dilute hydrochloric acid
is

A. hydrogen B. chlorine

C. nitrogen dioxide D. carbon dioxide
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A. CH, B. CH,
C. CH, D. CH,

The common molecular formula for both cyclopropane and propene
A. CH, B. C,H,
C. CH, D. CH,
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The substance that changes the colour of red litmus paper into blue colour
A. sodium chloride solution B. lemon juice

C. pure water D. sodium hydroxide solution
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The amphoteric oxide among the following is
A. sodium oxide B. zinc oxide

C. calcium oxide D. potassium oxide
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An alloy that made up of copper and tin is
A. brass B. solder metal

C. bronze D. stainless steel
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When a carbon dioxide reacts with calcium hydroxide salts and water are
produced. Then the nature of carbon dioxide is

A. acidic B. metallic

C. Dboth acidic and basic D. basic
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“The three elements were written in the order of increasing atomic mass the
atomic mass of middle element was roughly the average of the atomic masses
of other two elements.” This law was stated by

A. Dobereiner B. Mendeleev
C. Henry Moseley D. Newlands
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Carbon has the ability to form bonds with other atoms of carbon giving rise to

large molecules. This unique property of carbon is

A. saponification B. catenation

C. hydrogenation D. esterification
QRNTY WHTRT JerdoHYTHT ToosnINY Mo

A. CH,CH, CH, B. CH,CH, CH,
C. CH,, CH,-OH, H-CHO D. CH,CH,CH,

The group of compounds which are in homologous series
A. CH,,CH, CH, B. CH,CH,CH,

27767 2774

C. CH,, CH,-OH, H-CHO D. CH,CH,CH,

2772 T3

A T3 18 B. 73 9
C. 18 7 D. 9=3 7

The number of periods and groups in the modern periodic table respectively are
A. 7and 18 B. 7and9
C. 18and7 D. 9and7
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The main function of abscisic acid (hormone) in plants is to
A. 1increase the length of cells B. inhibits the growth of plants

C. promote cell division D. promote the growth of stem
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A common part among the following that is found in reproductive system of
both in flowering plants and humans is

A. Vas deferens B. Anther
C. Ovary D. Style
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Which of the following is an inherited trait?

A. Reduction in the weight of an organism due to starvation
B. Removal of tail in mice by surgery

C. Development of muscles in athletes
D

Type of earlobe
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The blood vessels that carry blood from all parts of the human body to the heart

are
A. Arteries B. Capillaries
C. Veins D. Pulmonary arteries
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The plants can get rid of excess of water by this process
A. Photosynthesis B. Transpiration

C. Respiration D. Translocation

IRFTT DREFTONIRIHEY T BOCIT TOBRE Fone
A, BRZHOT —> BRI —> FRITT —> BRI
B. hpR3038 —> RRTIRE —> RRTTS —> BOITTY
C. TRILOB —> BRI —> BRIERE —> FPITT
D

BRTERT —> WRIROT —> DHRZTY —> FRZWYT

The correct path of urine flow in the human excretory system
A. kidney —sureter —surethra ——urinary bladder
B. kidney ——surinary bladder —surethra ——sureter
C. kidney ——sureter —surinary bladder ——surethra
D.

urinary bladder —skidney ——sureter —surethra

81 FENTYNEY BRYTH BeT3RFIBCH TRT, TOLONT?
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Which of the following is the bio-diversity hot spots ?
A. Deserts B. Rivers

C. Oceans D. Forests
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The growth of pollen tubes towards ovules in the flower of plants
A. Chemotropism B. Phototropism
C. Geotropism D. Hydrotropism
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A group that contains only bio-degradable substances among the following is
A. polythene, wood, leather B. leather, detergent, plastic

C. wood, grass, leather D. paper, bakelite, grass
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The part of human brain that controls the involuntary actions like salivation
and blood pressure is

A. pons B. medulla

C. cerebrum D. cerebellum
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A. ©0wT3oH B. ngednecs
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Which of the following is not a part of human female reproductive system?
A. Ovary B. Uterus
C. Vas deferens D. Fallopian tube
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The main purpose of constructing water harvesting structures is to

A. hold rainwater on the surface of the earth

B. use water for irrigation

C. use water for fish farming

D. recharge the ground water

Br 930a wweed (TT) B5ER, By wwesd (tt) IRRecdR ogdrerevmownd.
F,&eonodg evggosnma @ 2300 wiserd B4nen oy 34ne otms

A. 3:1 B. 1:1

C. 1:3 D. 2:1

A pure tall pea plant (TT) is crossed with a short pea plant (tt). The ratio of
pure tall pea plant to the short pea plants produced in F, generation is:

A 3:1 B. 1:1
C. 1:3 D. 2:1
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The wings of bat and pigeon are the examples of
A. Analogous organs B. Vestigial organs

C. Homologous organs D. Adaptive organs
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